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1) "What was the site located on the banks of river Sab' vhere ancient civilization in Rajasthan was settled

1) Giloond 2) Jodhpur

3) Nagari 4) Baror |
1) TE FE & He 9t 9 S o T & S e a9 g3 417
1) FrE 2) HEGI
3) I 4) TR
; 2) Which historian has claimed that the Chouhans originated from the Brahmin 7
1) Dr. Bhandarkar 2) Cupningham
: 3) Dr.Ojab 4) C.V. Vaidh
‘ [ = ;. - Y =
i 2) Frm eferae 9 Jes @ aE 9T F Seds 2 A 87
i 1) =i quErst 2) i
" 3) =i, aEw 4) .4t a8y
3} On which ruler was bestowed the title of *Kavi-versh’ ?
1) Abhay Singh 2) Mun;
3) Pratap Singh 4) RavJodha
3) iy gw’ F suity e wsn ot & w4
) sy Tz - 2y HA
3) wdy R 4) [E e

4) When did the ‘third saka’ of Chittor take place ?

1) 1568 AD 2) 1569 AD
3) 1567 AD : [Nt 4) 1570 AD | {
| 4y Tereils &1 AT 9t &y gon? iy‘
1) 1568 %. D) 1569E,
3) 1567 £. ©4) 15704

5) Where is the ‘Chal phir shah’s’ dargah located in Rajasthan ?
1) Chittor garh 2)  Ajmer
3) Nagour ' 4y Jaipur
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5) ‘a7 gig & grmE e JM et e 87

1) fdene 2) S
3) = 4) wag

6) What are ‘Ghoonght’, ‘Gugadi’, ‘Bandra’, ‘Imli’ 7
1) The names of large bations on the parapets of Taragarh (Ajmer).
2) The names of the castes(Jati) in the gotra as per the folk tradition in marwar.

3) The names of the garments worm by ladies in interior of mewar.
4) Therituals of food habits of Rajasthan.

6) ‘e, CqUEy’, “aiEn’, gEEl @ 87
1) AT qSRT %1 TR %) fene gul & a9
2) HIearE € W Goqy | Sl & Il & AW
3) Harg waieE H SE @ 9w 9y
4y v wrar o fafedi %

T} Where is the main peeth of ‘Charandasi seet’ ?

1)} Delhi 2)  Alwar
3), Bikaner 4) Sikar
7) ERUGR WHErd W T 9 el v7
) fewed 2) e
3) dm 4) A
8) The ‘Boo’ village of Nagour was famous for which reason ? sreel g s el
1) For patch work 2} Formud toys
3y Forjutpatti’s 4) Forironimplements
8) i @1 ‘g’ viig Reafe aRrg gan @ ar? | el
1) Eas & 2) gl % Raeid & fero
3) e ugt % fo L 4) e % s & fe ¥

9) About which work is the following statement mode we don’t know whether sucha Iargapub‘hshed Manuscript
is available in india of the world ? :

1) RagRatnakar _ 2) Rag Kalpdroom
3} Vansh Bhashkar 4) Shrangar Har
09 - +» 4
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9 HEN S T gEe AT g da I S & 7 S & e A H € a7 T8 Suga o e uy
F & H &gt i B
I} 77 T 2) TFT HEIgH
3) d9T TRt 4) T EW

10} Where is the Ormament “Poth’, ‘Hankar’, *Sari’worn ?

1) Innose 2) Inear

33} Around the neck 4} Inthe feet
10) 91, BT, W, 99 HEf 9891 S 87

) 7 4 2) ol H

3) Tt | 4) WA

11) Which statement regarding Kuchamani khayal is not correct ?
1} The founder of Kuchamani khayal is Lacchiram.
2) In this male artist performed the female part also.
3) 'The main artist are chetram, Hammid beg, Tarachand.
4) Inthis the dancer’s are also the singer.
11) “gaml S’ e B S g T e
1) FUEEEE B SEaas a2l '
2) 9 gEY U € el aiy & aivmg s €
3) % HeTER WO, ghIR Y, arTE g E
4) Z9H e € T Bl T & '

12) Where in Rajasthan is located the ‘Tripura Sundarimata temple’ ?

1) Banswara 2} Barmer
3) Jalore - 4) Jaisalmer
12) “Frgm g=d " g widy vy § wEf R 87
1) s ( 2) A
3) e A SmeEw
13) Who established ‘Vidhyarthi Youth League’ in Delhi 1920 AD ?
1} Tikaram Paliwal 2) Master Aadityendra
3) Janaki Devi Bajaj 4) Manikyalal Verma
09 - « | 5
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13) el gy & (129 §) 9 e e |5 R 3577

1) EmEm e

3) FHE Td g

2) hReEr anferg
4) AT gHT

14) The category ‘Davi’ and “Jeevani’ of Nobales was popular in which part of Rajasthan ?

1) Jaisalmer 2) Udaipur

3) Marwar 4) Kotah

14) “z@lt” S ShEvly” @l & 2O T ° eE el 917

. 1) FEAe 2) sEEg

3) APEE 4) @rer

15) Which code does not maich ?

Prajamandal Founder

A)  Jaisalmer - Meethalal Vyas
B) Kotah - Nayanuram Sharma
C) Jaipur - . Kapoorchand Patani
D) Bundi - Gopilal Yadav
1 A 2) B
3} C 49 D

15) & e gAfed T8l &7

HAHIEE U
A) SHFHL - HiewE @
B) el - FquFm gl
C) WYL - HYTER IR
D) T - A 9Ee
I A 2) B
S 3 C 4. D __
- f 16) In the merger of rajasthan states to know the opinion of the people of Bharatpur, Dholpur, Riyasats,

* commitiee was constitud in that committee who was notincluded ?

1} Dr. Shankar Rav Dev
3) Prabhu Dayal

"~ 2) RK.Sidhawa
4) MS.Jain

09 . 0:0
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16) 7RIS U § WAy, Sray? areal ur s # I % fon v wEE o nee har T i,
TH FHE | %I QEATT Fer 917

1) = e ug &9 2) s, e

3) WHEET 4) UHIH 5
17) Who established the Sardul Rajasthani Research Institute ?

1) Dashrath Sharma 2) Raichand

3) Jems Tod 4) Ramkaran Aasopa
17) Wgw Torg Fad Sicye & ®a Reee #17

1) g9y g 2) TEEE

3) SmeE 4) THET ST
18} Which code does not match ?

State Political Agent

A) Udaipur - C.L. Shawarsh

B) Kotah - Major Berton

C) Jaipur - Major Lawrence

D) Bharatpur - Major Nixon

A . 2) B

3) C 4) D
18) Far we yafry € €7 |

T Uieiicde THw

A) wEuyy - LuE, g

B) et - I g

C) wHayT - HER @

D) wEAY R e

) A | 2) B

3) C 4) D

19) In which area did the Bhagat movement start ‘7 |
1) Udaipur - Chittorgarh 2) Dungarpur - Banswara
3) Sirohi - Pali 4) Barmer - Sirohi
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19) “wvE SRR BRE T 9 9% £3 7

L TR

1) sy - R 2y €YY - FEEE
3) T - urEl 4) AT - PR
20) Who did the foundation of the fort of Nawalkhan in Jhalrapatan ?
1) Madan Singh 2) Prithwi Singh
3) Ratan Singh 4) JalimSingh
20) swEEe § TawEl g o dig e
1) W= fiE 2) g fE
3) v g 4) s e
21) Shape of Rajasthan state 1s -
1) Quadrangular 2) Rhombus
3) Equiangular 4) Hexagonal
21) T T W AFA -
1) TG 2) fassmie
3) wEoig 4) wEEE
22) L;timdinai extent of Rajasthan state is -
1) 23%3" 10 30°12' North 2) 24%3' 10 30°11" North
3) 2393 to 30°11' North 4) 24%4'10 31°15' North
22)‘ TR T 7 ereisiir fasam ¥ - : w :
1) 2399 30012 IR T2) 2433w
3) 230319 30°11' B L4 2402|§3§015§ -
23) Which one of the following is the highest mountain peak of ;Xfa\;failis ?
1) Jarga | 2) Ser
3) Raghunathgarh 4y Taragarh
23) s ) wden e A R § @ ded R
) @ 2) W
3) HHUTE 4) dRMTE

09 - o 8
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24} In which physical dir “sion of Rajasthan are the Mukandra Hills located 7

1) Southem Aravalli 2) Shekhawati Region
3) Hadoti Plateau 4} Bhorat Platcau
24) T & W AiaE fawm § geeea & grifsay o £
D el sras 2) srEEE @F
3) i wer 4) e wer
23) ‘Uparmal’ is part of -
1) Bhorat plateau 2) Hadauti plateau
3) Abuplateau 4) Nagaur plateau
25) ‘HIAE % -
1) ARTE & Y3 9E 2) EER YT &1 Wi
3) &g 1 OHl W 4) TEiR w1 T A
26) Topography of Thar desert is dominated by what type of sand dunes ?
1) Longitudinal 2) Transverse
3) Barchan 4) Parabolic

Qﬁ)WW%WWW%WQ@@%?
1) gEged 2) o

3y waEd " ' 4y s

27) In terms of length within Rajasthan tertitory the correct ascending order of the rivers is -
1) Kantli - Chambal - Luni.— Banas 2} Chambal - Luni - Banas - Kanthi
3) Luni- Banas - Kantli - Chambal 4) Ranas - Kantli - Chambal - Luni

27) T g e o efe § A A A e g -
1) Tl - T - - A 2) e - - T -
3) A - G - HEE - g 4) 9 - HIRTE - O - S
28) Which one of the following is not a reason for scanty rainfall in western Rz_ijasthari 7
1) Locationof Aravﬂaliiie o | |
2) Location inrain shadow zone

3) Excessive heat duning oncoming monseon

4) High air pressure during summers

e
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28) fverdt waid B s aut & T Grenifas 9§ @ v SR A8 B
1) areraet & sty
2) gitc g wey ® erafiufy
3) HIEH T & HEY T ST-aun
4) e & dPE ow OTgEE

29) Which of the following soils extend over the largest area of Rajasthan ?

1) Aridisols and Vertisols 2)  Aridisols and Entisols
3) Vertisols and Alfisols 4) Inceptisols
29) Pt & & -t Frdh aromear 3 Al e W fa ¥
1) uidmied ud adiden 2) UREMERT Ul uieien
3) TR Ud S 4) FTHEE
30) Whattype of natural vegetation is found in Mt. Abu region ?
1) Tropical evergreen \ 2) Sub- tropical evergreen
3) Semi - arid deciduous 4) Tmpxcai thom
30) meﬁmwﬁmmﬁwmw
1) v - Ffeady sEer 2) I
3) @ - g TS 4 g - Wm&: R
31) Protected by law and included in world heritage the unique birdlife preiac&on spotin Ra;asthar; is-
1) Ranthambhor 2) Keoladeo Ghana
3) Darrah Cs" o 4) Ergé;eﬁzgt:;nai Park
1) Wﬁﬁ%mmamﬁwaﬁamﬁamqmwmé—
1) o L2 uEEE
3 4y e

32) Whatis the root cause of desertification in Rajasthan 7
(RS : tid

1) Frequent droughts 2) Loss of soil cover ‘
3) Loss of vegetative cover 4) Deepcmng ground wxat;:r levcl
r
09 - o 10




32) TSN OERE 0 6 OE ST oy &7
) = i airEnd ST ——
3) R AT #Y 4 e W‘f“f' o

33) Crops grown in the largest cultivated area (2013-14) of Rajasthan arc -
1} Pulses 2} Oilseeds

3y Cereals 4} Sugarcane and cotton

33) v ¥ gaifis B 8 (2013-14) ¥ 91 WM 9RT $UE © -

1) E@ 2) Tmed
3) I 4) T U HIE

34) According to the livestock census 2012 (Provisional) the total livestock number of Rajasthan is -

13 49] lacs 2) 547lacs
3) 577 lacs 4) 566 1acs

34) a9 2012 @i Gy (GFf) & SFER T # $9 Uy He E -
1) 491 @rg 2) 547 w@
3y 577 @R 4) 566 7R

r

35) Which one of the following irrigation projects is the joint venture of Rajasthan, Punjab and Haryana states ?

1) Indira Gandhi Canal 2) Mahi Bajaj Sagar
3) Beas 4) NarmadaCanal |
35) fy=iefgs o 9 s Bas R s, dore g eRan T T 9ge qRaeEr €7
1) g W 987 2) =il S99 9 | '
3) = 4) FHET FEY

36) Which of the districts of Rajasthan are benefited by Choudhary Kumbha Ram lift of Indira Gandhi Canal ?

1) Hzmﬁmangarh and Churu 2) Ganganagarand Bikaner
3) Sikar and Jhunjhunu & 4) Jodhpurand Nagaur

36) efam i ey @1 diedl e fee § TwWeE & -y el aenia g7
1) BITE U g 2) TR Ue de
3) T g 4y Sirrge od A

11




JC

37) National Highway of Rajasthan which forms part of bo. the Golden Quadrant project as well as the East -

West corridor -
1) NH No. 79 2) NH No. 15
3) NH No. 8 4) NH No. 76
37) U &7 T e S @i agye Qe qu ge-ulsan wiier Tl B e -
1) i aemE der 79 2) TR aeErT qEm 1S
3) WL TAART HET 8 4y I AR G 76
38) Roadroute of Rajasthan included in ‘Super National Highway’ is named as -
1) Maharana Pratap Route 2) Maharaja Agrasen Route
3) Express way 4) MegaHighway
38) ‘gu¥ AYMH B 9 Gt o ataied T 6 9% A 6 AT -
1) wrmon sy At 2) WERTS 3|EA AW
3) wEH d \ 4) TNEE T
39) Jhamar Kotra is famous for the mining of -
1) 1Lead and Zimc 2) Manganese
3} Rock Phosphate 4)  Silver
39) arR AeS R EE E MU AR € aw - |
1) e ud s 2) #dr
3) i 4) m‘cﬁ

40) Which chsﬁnct Gf Rajasthan currently pmduces maxlmum quanttty of Gypsum?
1) Bikaner 7 2) Jaisalmer

3) Haﬂumangarh 4) Nagaur

40) Wwﬁﬁmmﬁwwwﬁmﬂﬁwwmg?

1) e | ) SR

3) EJAFTe 4y MR
41) Maximum permissible wear in stones for road work is

D 1% 2y 2%

3) 3% 4) 4%

09 - .:. 12




4"y ws® B ag uer § Al wear ®1 afave oy E)

D% 2) 2%
3) 3% 4) 4%

42) A good brick earth can be rolled without breaking in small thread of diameter
1) lmm 2) 3mm
3) 6mm 4) 10mm

42) e e &g TUEE 98 @ uW % €9 H e =W H I (Roll) fran @ wwen &
1) 1mm 2} 3Imm '-
3) 6mm 4y 10mm

43) Fatlime is used for best performance in

1) Masonry mortar 2} Lime concrete
3) plaster work 4} none

43) & T w1 sw e @ 3 e SUgE &
1) femrd e ' 2) T wAE
3) TR HY 4) IHIRG H g 9E

44) Which of the Yollowing gracries of concrete in R.C.C. is recommended for severe exposure condition by BIS ?
RVIT I © 2) M20
3) M25 4) M30

44) fr=1 5 9 @MW o FHe U8 R.C.C. BF TS (severe exposure) TRl | BIS zr W 77
1) Mis 2) M20 | -
3) M25 4 M30

45) Which of the following minerals has more than 50 % share in rapid hardening cement
1) c25 2) 38 |
3) C3A 4) C4AF

45) F1=1 ¥ | %= TS Gi (chemical compound) & 50 % & Sifes 8541 rapid hardening cement &

1) C28 2) €38
3) C3A 4) C4AF
09 - o 13
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46) Which of the following range of p_ 7iént volume concentration number is recommendr # for paintfor prime
coat on metal ?

1) 25-40 2} 40 -50
3) 50-60 4y 60-70
46) &g T prime coat &g M= H ¥ HI9H PVCN @l range 399t 801
) 25-40 2) 40 -50
3) 50 - 60 4) 60-70

47) The best season for felling of trees for timber production in hilly atea

1) Summer 2) Winter
3) Monsoon 4) Spring
47) Timber S &9 YRS 7 T H1e HI FoH SUGHT Hew ¢l
1) 2) Wl
3) g9l 4) o

48) Which of the following Indian standard is referred to determine zone of fine aégfega;gﬁ?

1) IS 456 _ 2) 1S 383
7) 151893 4) 1S 1237 o
48) Wwﬁwmwmwﬁqw@nmmmam%wmm%?
1) 1S 456 2) 15383
3) 1S1893 4) 18 1237

49y A dummy actav;ty na pro;ect network daes not consume

1) Time 2) Material
3) Money 4) Allthe above
49) [ERieireimEl Jic}::c;'a T Ezﬁ FR (d‘amrrav activity) % g ﬁ’(ﬁ{ ”Q’EfFT T%' :féxl f?ﬂﬂ ""ﬂ?ﬂ ”a:'i
1)y & 2) arl
3) 4) TR o

50) InaCPM ﬁetwork }dtest ﬁmsh time foran event } is l(} weeks. Acti v;ty i-] takes 4 weeks for completxor
- HventI starts after 16 wecks. Float for activity 1 -jis

1) 6 weeks 2) 12 weeks _
3) 10 weeks 4) 2 weeks
|
o
09 - 14
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50) s CPM Aedd W cvent ‘1’ %1 Ewifed 99199 999 j0 9918 3
Activity i - j U B ¥ 4 TETE BT 9T W4T #l GEET
Event 'J’ NG & Al6Ed TH1E U 9E ardl o
Activity i - j &1 float &7 TR

1) 6 wwE 2) 12 [=iE
3) 10 H<iE 4) 2 H9E

51) Surface tension is due to -
1) Cohesion and adhesion 2) Cohesion only

3) adhesiononly 4) None of the above

51) Ys 9919 THEE 0T T BT 87

1) YT UE SR 2y T GEwH
3) ok 4) 39geT 4 & % T8

52) The absolute pressure is equal to

1) Gauge pressure + Vaccum pressure

2) Atmospheric pressure » Vaccum pressure
3) Gauge pr?assure + Atmospheric pressure
4) Gauge pressure - Vaccum pressure

52) Te9er e @1 919 fEe 9uey 8 E -

1) sH19Y e + e e 2) aREEEE o - A A

3) wardi &1 + grgded A 4y T F - MEE a|
53) The centre of gravity of the volume of the liquid displaced is calied

1) Centre of buoyancy ' 2) Meta centre

3) Centre of pressute 4y None of the above

53) W & B EU AT #T UHE &G HEerT ¥ -

1) SRR 2) TUNT &
3) & B 4) 39dw § | @ qE
09_.:’ 15
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£ 54) Which of the following function - nresent the velocity potential of a function ? i

D ¢= x+y 2) o= x-y
3y ¢= 2x'y 4y o= x-y

S4) t7 § & & @1 Ee, Rafaw 99 % wee o vefiE e g -
D ¢= x+y ) ¢= ¥y
3) ¢= 2x2y 4H b= x-y

55) Which of the following pressure units represents the least pressure ?
) Ny 2y Kgffeny?
3) Millibar 4) mmof mercury

55) f=1 | & ey @ o 9 gite, ¥e | wH e El aaldr § -

1) =ges /g 2y fBam / et BAL
3) el ar 4) WTEHT w1 .

‘g.

56) The reading of differential manometer of a venturi meter placed at 45°to the horizontal is 11 cm. If the
venturimeters is turned to horizontal position, the manometer reading will be

1) Zero 2) 11/\2 cm
3 1lem ’ 4) 1142 em
50) u% JAgdEE? ST g 45° % I uT e T g, W%Wmmﬁmn et
=0 agiied &1 afaw fufy  war o, & gaard @ Gy ded - :
1) 9= 2) 11/42 &4
3) 118 4 112
57) The Cippolet weirisa............ Welr,
1y Circular 2) Rectangular %
3y Trangular : 4) Trapeioi&ai :
S 57) fawed By, 0 ooz % -
1) gumER 2) TR
3) Fremer 4) THFEER

09 - ,:,, 16
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58) The power transmitted through the pipe is maximum when the head loss due friction 1s equal (o

2)

1)
% * of the total supply head % “* of the total supply head

3) 4)

14 of the total supply head %/, ™ of the total supply head

58) T % 21 Henva 9w wwa At 2w gdu ofnd aifd e % avE BT -

1y I A %‘h 2}?}5@13%6?#%“
A 4y T o & 2

59) Due toagingof a pipe line, its carrying capacity has decreased by 25 %. The corresponding increase in the

Darcy weisbach friction factor fis ... %
) 63% 2) 771 %
3) 56% 4) Noie of the above

59) THG F WY UF 5 Bl TS ST H 25 % B €A 61 S w6 g9 Juis, f W 366 HT [madl

g -

1) 63% : 2) 77 %
3) 56 % 4) BUdE § 8 g T8

60) The friction fac,:tor of laminar liquid flow in a circular pipe is proportional to
1) Inversely to the Reynold’s number
2) Square to the Reynold’s number
3) Squarerootof the Reynold’s number

4) Reynold’s number

60) U MEEE WY § @59 a9 qowid WA % &Rl i quis dgais § -

1) Fieg 7= & STl 2) TIeE TR % A % i
3} ¥HEE TEY % aUHE & ATIIE 4) TN TR & AGARE

61) The local mean time at a place located in longitude 90° 40 E when the standard time is 6 hours and 30
minutes and the standard meridian is 82°30' Eis

1} 5hours, 2 minutes and 40 seconds

2) 5hours, 47 minutes and 20 seconds
3} 6hours and 30 minutes

4) 7 hours, (2 minutes and 40 seconds

49 - 0:0 17
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61) U ¥ 1 9¢ 40E Sovl W figd =l v 97 a9E 591 6 99 30 fiFe Ug e ananer
82030) E &1 &1 T 1 %7 @R ey w2 -

1) 5uve, 2 fime g 40 s 2) 599, 47 fiFe 14 20 Havs
3) 6 97 1g 30 e 4) 7 ave, 02 e 0F 40 fwvs
62} The survey in which the earth’s curvature 1s also considered is called
1) Topographical survey 2) Plainsurvey
3) Geodetic survey 4) Preliminary survey
62) g Hawur FEH yedl @l amhar i o e | T i g, 98 8 -
1) TURTEIE T 2) HTEST He
3) IO FRI 4) st g
63) The latitude and departure of a line AB are +78 mand -45.1 m, respectively. The whole circle bearing of the
lineAB1s
1) 150° 2) 330°
3) 30° ‘ 4y 120°
63) Tt Yant AB % Haiist W HSTEh &1 61 FEe +78 Wi UH 45,171, Bl 29 W@ AB & quige R @
qM 8 - .
1) 150° 2) 330°
3) 30¢ : 4y 120°

64) A series of closed contour lines on the map with lower to higher values iiiéfde'thém, represents a

1) Hil 2) Ridge
3) Depression 4) Steep slope
64) U R § AT weed e &) gue S aer A ot o 4 o 7 8, weer § -
1) TEwEl 2) =l
3) gl 4) @ g

65) Two—péint problem and three - point problem are method of

1) Resection - 2) Orientation
3) Orientation and resection 4) None of these
09 - & 18
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‘ 65) - wmen v Bifds g e e Ml ’

1) arETE 2) Farme
3) Feerane wd s 4) gE F A A Tl

66) The collimation method for obtaining the reduced levels of points does not provide a check on

1) Foresights

3) Change points

2y Backsights
4y Intermediate sights

66) o fafy o fafis fegsht & wwrd o e o ot =8 e € -

1) rTeE 2) gymEeh
3) "iea &g 4) ReaTFARA
67) Size of a theodolite is specified by
1) Diameter of lower plate 2) Diameter of upper plate '
3) Lengthof telescope 4) Diameter of vertical ciicle
67) FrEiemge & o @ i R S R - _
1y Fraeh @i @ ey 2) Had e & e
3) M & wEr ) 4) T ga F =M
68} The point on th; celestial sphere vertically below the observa’s position is called
1) Pole o A 2) Celestial point
3) Zenith 4) Nadir
68) ATEHIS F 95 63 A 2T G & A9 A oEad 2, Hee § -
1) ga : 2) s fHg
3) eidfeg 4) g
69} The most widdy used antenna in GPS is
I) Slotted antenna 2) Microstrip anienna
3) Parabolic antenna -4y Hom antenna
69) Sth.druy. 9 gallas e ony g U § -
1) wite udm 2) izl Ug T
3) 2 FIGT T 4) EF G

i imeoeiees.
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7. )"$h ong and short wall method of estimation, the | 1gth of long wall is the centre to centre distance bet een
the walls and plus
1) Breadth of the wall
2) Half breadth of wall on each side
3) One fourth breadth of wall on each side

4) None of these
70) e et ud Bre drae faf |, ol S @ e, S dERl % B 9 65 6 O Ul L.

% TUET Ty § -
1) dam =t e 2) B TR SR W et den
3) ¥ OTF LA & 9 9 4) =ugad § 9 =E 98

71) A catchment consists of 40% area with run-off coefficient 0.30 with the remaining 60% arca with run-off
coefficient 0.50. The equivalent run-off coefficient will be

@e@;g .

1) 0.38 2) 0.42
3) 0.48 4) 0.52
71) T A TE % 40% & BT T R oHew 0.30 ¥ 37 S10 &0 & T 3% ToH 0.50 Bl 7N e} T A
OTE ET |
1) 0.38 ’ 2) 042
3 0.4:8 4) 0.52
72} For calculating the maximum flood discharge in an alluvial stream, which is the best suited relation?
I} V o RIZ§% 2) Vg RPSW
3) V ¢ R¥ §¥” 4) V g Do&
72) TF WG W § iitehas aW 9T & 7o F AU 999 ouged 999 B
1) V @ R¥ 8§12 ) Vg R®SW
3) Va RBS™ 4y V o D¥

73) Discharge perunit drawdown at a well is called

1) Specific capacity ' 23 Specific storage
3) Specificyield 4y None of the above
: 09 . ’:‘ 20
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73) U o0 O =Ee W 5 oflenw § a1 dmewil B

1) Teigme emar 2) THigre wino
3) ffsree g 4) TTIGE H § BE T8

74) Water presemd in an artesian aquifer is usually
1) At0.5 time of the atmospheric pressure
2) Above atmospheric pressure
3) Atsubatmospheric pressure

4) Atatmospheric pressure

74) wes arefyae ufrEwar § aufigs gl S B B

1) agAvEd /&1 0.5 un 2) argHuEH w9 H S
3) 39 grgdEE @9 W 4) SRIEFAY 9 W
75} The water utilized by plants is available in the form of %
1) Hydroscopic water 2) Chemical water f‘
3} Gravity water ©4) Capillary water
75) drel ZwT IO G A e U fRe wY H Sueer BT R
INRCIERICHIT s 2) TREtE T
3) TEEEHY 4) ST T

76) A canal has designed to supply the irrigation needs of 1000 ha of land growing rise of 140 days base period
and having a delta of 126 cm. If the canal water is used to irrigate wheat of base period 120 days and having
a delta of 60 cin, the area that can be irrigated is

1) 1600 ha 2) 1800 ha
3) 2000 ha 4) 2200 ha

76) TE T %I TE 56 R T &l T ¥ g8 1000 EeAy i 9 fEE e uh T a2 arae fame 39
Praz 140 & & & 126 T8 afg et &0 9 T2 9 e @ e swd | e s e
gitae 120 e ofw Bt 7 91 B a7 e o Rt G o 9% B

1) 1600 Tt 2) 1800 &Y
3) 2000 Eex 4y 2200 TR
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77) 1n the alignment of an imrigation channel wherefrom off rakes have to be provided at rogular intervals,
changes in the given channel parameters are made of. The correct sequence of the decreasing order of
preference of these parameters is

1) Depth, slope, width 2) Depth, width, slope
3) Width, slope, depth 4) Width, depth, slope

77) T FEr e % dram 1 ol § Aiwcad Mg e oo s 9 g, qee % aigdl § oftads

1) T, T, dieE 2) T, dieE, o
3) drgR, oW, T 4) dRH, TEE, T

78} Aridgecanaliscalled a:

1) Across the contours 2y Contour canal

3) Side slope canal 4) Watershed canal
78) s 7 &Y B el A ¥

1) @t % aw ' D) WHET TE

3) I9d @ el 4) dIeIIE AR

79} Lacey’s silt factor for medium silt whose average grain size is 0.25 mm, is likely to be

1) 0.66 2) 0.77
3) 0.88 4) 0.99
79) WM%@EW&%@WWOQSW%,%WWWW%%TW%
1) 0.66 2) 0.77
3) 0.88 4) 0.99

80) Garret’s diagrams are based on

1y Bligh'stheory . : 2) Kennedy’s theory
3) Khesla’s theory : 4y Laey’stheory
| 80) ¥xe % To R € B
1) e & fguim W 2) B & foraia W
3) @ & fagaia o 4) & % foeia w

09 . 0:6




JC

81) Which of the following method is most accurate for the determination of the water content of -oil

i 1) Ovendrying method 2} Pynometer method
3) Sand bath method 4) Calcium carbide method
81) freer % st ®7 W FI B WCH IYE [ty ¢ A H a0 gv
1) ST HE 2) TrdeT
3) °E Ay HyE 4) ERITH FEEE HIS

82) The plastic limit and liquid limit of a soil sample are 35% and 70% respectively. The percentage of soil
fraction with grain size finer than 0.002mm is 25. The activity ratio of the soil sample is

1) 0.6 2) 1.0
3) 1.4 4 1.8

82) e et & U o wiies ST S oY i AT 35% 3R 70% & | Medt s e e s 0.002
TRUH. § 9EF ¥ 39 of9r uiqer 25 &, o Medl & A a5 vkl Wi eni

1) 0.6 W
3) 1.4 4) 1.8

83) The hydraulic head that would produce a quick sand condition in a sand stratum of thickness 1.8m, specific
gravity 2.65 and void ratio 0.65 is equal to ' '

D Lom . : 2) 12m’
3) 1.6m 4) 1.8m
83) s T wi uzd Foel 9eE 1.8m, SNiEs T 2.65 3t Fawar auid 0.65%, ¥ fas g St g
HT & g EEgliers & &0 |
1) 1.0 e 2) 1.2 e .
3) 1.6 fireT 4) 1.8 firen | o

84) The hydrostatic pressure on the Phreatic line within a dam section is

lj Greater than atmospheric pressure . 2) Equal to atmospheric pressure
3) Less than atmospheric pressure 4) None of the above
84) U aiy & R 4 ThieE WiEa W emgeles 2 B |
1) =TgHEAE g o it 2) ATgHEHT T % aIET
3) el & W B 4) s A § @ W
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83) For a particular loading condi' Hmya saturated clay layer undergoes 30% consolid: _ion in a period of 180
days. What would be the additional time required for further 20% consolidation to occur

1) 320 days 2) 280 days
3y 220days 4y 160 days

[is

85) uz Ty SfEM Syepen F FU UH 999 590 31 9 &1 180 &A1 7 30% S0 21 Wi €, ST aahie
20% TEETO B & 60 opdsys 99y Ey EeT |
1) 320%= 2) 280 &H

3) 220 f&= 4) 160 fas

86) For conducting a Standard Proctor Compaction Test, the weight of hammer (P inkg), the fall of hammer
(Q in mm), the number of blows per layer (R} and the number of layers (S) required are respectively

P Q R S
o 1 589 550 50 3
- 2) 489 450 25 3
% 3)  3.60 310 35 4
4y  2.60 310 25 3

86) @W%M%&@%ﬁ%ﬁ%msﬁaﬁmm kgH) ‘eref@x:aafﬁw.-(q mmﬁ);%“fﬁ
wi T B AEn (R) ST Ul @ T (S) B STavadhd] EHT By B

P Q R S

3! 5.89 550 50 3

2) 4.89 - 450 25 3
P 3y 3.60 310 35 4
P 4y 260 310 25 3 |
i 87) Sheep-footrollers are recommended forcompacﬁng |
: 1) hard rock 2) guanularsoil
| 3) cohesivesoil- i '~ 4) anytype of soil

87) sf, we TRl FEaE GEeE B o E |

1) =€ % 2y e el
3y HEAH MEE! : 4y Rl e @ Red

0% - 4:‘




88) Given that for a soil deposit
K_=earth pressure coefficient at rest
K, = active earth pressure coefficient
K = passive earth pressure coefficien
u = Poisson’s ratio
The value of (1-g)/p s given by

D K,
3) Kp/Ka

88) ww fedfisre fedl % T famr o &
K = fasmm g5 e o
K, = did 921 & i
K WWWW
o = TS ST SR (1-p)/p & A B

n K,
3) K/K,

89) A gross bearing capacity of a 2.0m wide strip footing at a depth of 1.5mis 450 KN/m?2 If y =20 KN/m?,

what is the net hearing capac{ty ?
1) 400 KN/m?
3) 420 KN/m?

89) 1.5+, mqumzommmmqqmmw&mﬂ%omm%Eaﬁr ¥ =20 KN/m?

%, Gl T e Al TR
1) 400 KN/m?
3) 420 KN/m?

90) The size of square bearing plate in the plate load test for determining the bearing capacity of soil should be

1) less than 300mm

3) beiween 7‘50 mun and 1.0m

90)%%&3%WW&W%W$WWWWEWWW

1) 300 wa.ud, & &9
2) 300 TH.UA. $R 750 UL.OH. & 9
3) 750 wn.uH, Siw ] Wew & 4"

4) 1HeT 9 31eE

JC

2) K/ Kp
4) UK,

4y VK,

2y 410 KN/m?
4) 430 KN/m?

2) 410 KN/m?
4) 430 KN/m?

~2) between 300 mm and 750 mm-

4} orc:ater thdn 1 Om .

09 - &
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91) Abar made of a material v zieh has modulus of elasticity 2 x 10° Mpa and por-on’s ratio 0.25. Which one
of the following corresponds 1o shear modulus of the material ?

1) 0.2x10° Mpa 2) 0.4 x 10° Mpa
3) 0.5 x10° Mpa 4} 0.8 x 10° Mpa

92} Inapropped cantilever beam ABC, Fixed atend A and propped at B. AB =L and overthang BC=1/4. A
point load “P” is applied at C will generate momentat A:

1) PL/2 2y PL/4
3) PL/8 4y PL/10
93) Ashaftof length L having torsional rigidity G} is subjected to a torque T. The corresponding stiffness shall
be:
D 77 2) 61
L L
316 4 1J
L GL
94} Euler’s critical buckling load for a column fixed at onc end and free at other end is:
1) 7'EI 2y 7EI
L? - 4 . 2L°
3y #'El ‘ 4) 4r’El
AL L’

95) A rectangular block is subjected to normal stresses on two orthogonal faces 600 Mpa and 400 Mpa of
same nature. What shall be maximum shear stress produced on a plane 7

1) 500 Mpa | 2) 300 Mpa
3y 250 Mpa ~4) 100 Mpa

96) Consider following for a short column: (i) fails primarily due to crushing, (11) Ultimate load capacity depends
upon its length, (iii) Yield stress governs crushing strength. Which one of the following is correct answer ?

1) i only | : ' 2) i-and ii oly
3) i and iii only ' ~4) ii and iii only
97) Radius of gyration of two rectangular columns is in a ratio of 3 : 1. What shall be the ratio of their depths ?

1) 3:1 213
3) 1.:\[3w 4y 3:1

09 - o 26
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98) A free end of a cantilever beam otates by 0,001 radians under a point load 10 kN, ""hen deflection at the
free end due to a moment of 10u kIN-mis:

1) t0mm 2) 20mm

3) 25mm 4) 40mm

99} A prismatic beam of uniform flexural rigidity EI is simply supported over a spam, L. If a moment, M is
applied at one support, the resulting bending strain energy is:

1) ML 2) ML
EI 2ET
3) ML 4) ML
4E1 6EI

100) Which one of the following represents curvature of a beam subjected to pure bending ?

A i

1) dy'd+y™)? 2) ty"d+y”)?
E)
3 tytd+yn? 4 ky'd+y"y

101) As perIS code provision the tolerance on placing of reinforcements in a stractural member having effective
depth more than 200 mm shall be:

1) +25mm 2y +20mm
3y £15mm * 4y x10mm

102) A curve showing percentage passing on ordinate v/s sieve size on abscissa of aggregate a horizontal portion
for certain range indicates:

1) Continuous grading ' 2y Gap grading
3) Mix ga&ing / 4) porous grading
1(43) Partial safety factors to be taken for concrete and steel reinforcement, respectively, for design parpose as
per IS:456-2000 are:
1) 1.5and 1.5 2) I.5and 1.15
3y 1.15and 1.5 4) 1.15and 1.15

104) In a monolithic slab-beam RC constructions transverse reinforcement to be provided in the slab shall be:
1) 60 % of main reinforcement at mid span
2) 50 % of main reinforcement at mid span

33 40 % of main reinforcement at mid span

4y 25 % of main reinforcement at mid span

<,
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105) For limit state design of RC beam consider following:

. A

ck

xh‘mﬂ){
(iil) g :{).48}

Which one of the design criteria shall be applicable ?

1) Balanced section
2) Over-reinforced section
- 3) Underreinforced section
4) both balanced and over reinforced sections

106) Most appropriate hot rolled indian standard section for steel girder is:

1) 1ISMB 2) ISLB

3) ISWB 4) ISHB
107) Gauge length of steel specimen as per codal provision is:

1) 5d . ' 2) 56544,

3) 6d 4) 8d

Whtre 4 : larger dimension of the specimen; A, : Cross sectional area of the specimen

108) Which one is correct about prying force ? N
1). Additional tension force . 2) Additional compressive force

3) Additional bending moment 4) Additional torsional force

15800-2007) by :
1) 1-0.0125t 2) 1-0.1250
3y 1-012t 4y 1-0.25t

Where Lo thickness of thicker packing plate

109) Reduction in design shear capacity of bolts due packing plate in excess of 6mm is expressed { as per

09 - o 28
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110) Transverse shear to be considered for design of batten plate is:

1)y 2.5 % of axial force 2} 5% of axialforce

T Rt A DL RU S

3) 10 % of axial force 4) 25 % of axial force

111} A concrete mix has entrapped air about 1% results in:
1) Poor quality of concrete 2) Average quality of concrete

3) Improved quality of concrete 4) Requires less quantity of water

112) Which one of following is not mechanical property of bricks?

1) Modulus of rupture 2) Texture

3) Tensilestrength 4) Fire resistance y
113) Relevant IS code for specification of bath type concrete mixers 1s: _ j

1) 1S: 1786 2) 18:1791 i

3) 1S:2502 4) 1S :2506 ‘ f

114) Tolerance limits for dimensions of bricks in length, width and height, respectively, for a sample of 20 bricks
taken together as per IS code are:

1) 2000mm, 90mm, 90mm 2) IOOmm,()ﬁmm,QSmm
3) 80mm,40mm,40mm 4) S0mm, 20mm, 20mm

1 15) Consider following requirement of documents for a greement to be signed for a construction project:

) Letter of acceptance (iiy General conditions of contract
(i) Conditions of particular application (iv) Technical specification
(v) Drawings (vi) Pricedbill of qﬁ.antities
Which one of the following is correct answer 7
1) i i, ivandvonly 2y i ivand vonly
3) 1ii,iii,ivand vonly 4) Al

116) When the F9 key of the keyboard is pressed, the following facility is toggled on/off:
1} Snap 2) Ortho
3) O-Snap 4) Gnd

09 - o ’ 29
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116) o ®t a8 B F. 9o agral IOl £ af 99 H d sa] giaen . 91 St 2y B

) =
3) oy

117) What does WCS stand for ?
1) Western CAD system

3) World coordinate system

117) zaeg o1 oq (WCS)®T B B4 &1 271
1) I & fhwen
3) T HiAfTeIE ey
118} The Fillet command creates:
1) Sharpcomners
3) Round and Sharp corners
118) fipeic FaiE § 91T IR § -
1) /B
3y A T AR B
119) What keyboard key used for polar on/off ?
1) F10
3) Fi2

2) o

4) fu=

2} Worldwide coordinate sectors
4) World CAD setting

2) TEaE wAEe gt
4) T2 HS HAien

2} Round comers

4) None of above

2) AT B
4) a9EE § B 9E

2) Fii
4) F8

119) dee si/eis aﬂ%aa%rq Fr-atd § Fr g B E |

1) %10 2) Tl
3) w=El2 4) UER
120) Which command allows you té chénge the line type scale 7
DT 2 s
3) LS 4) LTSC
120) 1 F 9 ieedl $wie @189 Esy W geedl §7
) LT (uw &) 2) LTS (us €f uw)
3) LS (T@ ) 4y LTSC (uer 2 vy i)
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